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P1070 [3264]-639 -
B.E (Computer) (2003 Course)
ARTIFICIAL INTELLIGENCE

 Time : 3 Hours] - ©_[Max. Marks :100

Instructions to the candidates:- - . F] - DEC zum
1)  Answer 3 questions from Section I and 3 questions from Section II.
2)  Answers to the two sections should be written in separate books.
3) Assume suitable data, if necessary.

SECTION -1

Q1) a) Define production system. Justify the role of control étrategy in the
application of rules at appropriate junxture. Give proper example. [9]

"b) What are the various applications of AI? [7]
OR
02) a) What is an Agent? Explain typical agent architecture. [8]
b) Explain Forward and Backward reasoning with merits and demerits .
. ' (8]
03) a) Explain A* algbn'thm with example . ' [10]
b) Solve the following problem usirig constraint satisfaction, [8]
‘TRUE
+ FACT
FALSE
OR
04) a) lllustrate how alpha and beta values mlmmlzes search space and efforts
- with examples , [10]
b) Write the sequence in AQ* algorithm. ) * 8]

Q5) a) Consider the statement, “ The person who had assassinated the ruler
may be Baldvin or any person wha intensely hated the ruler”. Show
how do we apply wif rules to convert the above statement into clause
form. ‘ . . [8]

b) Write a script for Bank Robbery. ' [8]
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OR

Give conceptual dependency representation for the following
statements, _

i) Meerais a good writer.

ii) . He stabbed the boss using dagger.

iii) I heard the barking of a dog.

iv) Leena handed over the tip to the waiter. ' [8]

Give the drawbacks of predicate logic and justify the advantages of

non monotonic reasoning Over it. = . 81
- SECTION - 11

‘Write short notes on any four types of léaming . ' [8]

Consider the following representation from blocks world:
Start : ON (B,D) A ON (C,B) A ONTABLE (D) A ONTABLE(A)
Goal: ON(A,B) A ON(C,D) A ONTABLE (B) A ONTABLE(D)

Show how STRIPS will solve this problem. ; : (81
OR

Explain Goal stack and Hierarchical planning with example. [12]

Explain Least commitment strategy. [4]

Explain various steps in NLP. ' . [10]

Write Waltz’s algorithm. Explain with example. (81
OR \

Draw an ATN which should accept typical interrogative sentences in

English © ) [10]

Give typical components of any perception based Al system. [8]

Give the applications' of Artificial Neural Network. - [8]

Design an Expert system for phychoanalysis. ' (8]
OR '

Explain typical expert system design. : [8]

Explain back propagation algorithm in detail. , [8]
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